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[ O O O #include#include#define HUNTHOU 10000typedef
struct node{ int data. struct node *next. }NODE. /*00 O 0O O O
[J */NODE *insert_after(NODE *u,int num). /0 ull O U 0O O O
0 00O NODEO O O O num*/NODE *addint(NODE *p,NODE
*)./A000000o0od*p*U0 U o0 o */void
printint(NODE *s).NODE *inputint(void).void main(){ NODE
*s1,*s2,*s. NODE *inputint(), *addint(), *insert_after().
printf("Enter S1="). s1=inputint(). /*00 O O O O */ printf("Enter
S2="). s2=inputint(). /0 O O O */ printf(" S1="). printint(s1).
putchar(\n). /*00 O O O O */ printf(" S2="). printint(s2).
putchar(\n). /*00 O O O */ s=addint(s1,s2). /*J O */ printf("S1



S2="). printint(s). putchar(\n). /*J OO O U */}NODE
*insert_after(NODE *u,int num){ NODE *v. v=(NODE
Imalloc(sizeof(NODE)). /*1J OO O O NODE*/ v->data=num. /*[]
O */u->next=v. /*0uld O 0O O 0O O O NODE*/ return v.}NODE
*addint(NODE *p,NODE*q) /0 U O O 0O 0O 0O O O O *p *q
O OO O *{ NODE *pp,*qq,*r,*s,*t. int total,number,carry.
pp=p->next. gg=g->next. s=(NODE *)malloc(sizeof(NODE)). /*
OO00000000 0 * s->data=-1. t=s. carry=0. /*carry:[]

L1 */ while(pp->data!=-1lamp.qq->data!=-1) /*0 U 0O O O */{
total=pp->dataqg->datacarry. /O 0 0 OO0 0 OO0 oodd*
number=total’oHUNTHOU. AU 0O OO0 Ooooodo *
carry=total/HUNTHOU. /*J 00 O O */ t=insert_after(t,number).
AO00000sO0000*pp=pp->next./*0 000000
[ */ qq=0gg->next. } r=(pp->data!=-1)?pp:qq. /0 0 0 0 0 O O
O 0O0O0*while(r->data!=-1) A0 0000000 O*{
total=r->data carry. /*J OO OO OO O */ number=total%oHUNTHOU.
/AO0000000000* carry=total/HUNTHOU. /*J U
[ O */ t=insert_after(t,number). AU OO0 OO OsO OO OO*
r=r->next. /*0J U O O O */ } if(carry) t=insert_after(t,1). /U O [
OOo0000*t->next=s./*0 0 00O 0OO* returns. /0 0 O O
00 0000*INODE *inputint(void) /0 O O O O O O */{
NODE *s,*ps,*qgs. struct number {int num. struct number *np.
}*p,*q. inti,j,k. longsum.charc.p=NULL. 0000000 O
Jodododououououooooooo
while((c=getchar())!=\n) A0 0000000000 O
if(c>=0amp.c { g=(struct number *)malloc(sizeof(struct number)).



/0 000*g->num=c-0./*0 0 0 00O O* g->np=p. /*00 O
[ 0O */ p=q. } s=(NODE *)malloc(sizeof(NODE)). s->data=-1. /*
DOo00O00000000a0* ps=s. while(p!'=NULL) /0 O O
Jododoboooooodoooobooooa*/({
sum=0.1=0.k=1. while(i { sum=sum k*(p->num). i . p=p->np.
k=k*10. } gs=(NODE *)malloc(sizeof(NODE)). /0 OO O O */
gs->data=sum. /*00 O O O O O O */ ps->next=qs. ps=gs. }
ps->next=s. return s.}void printint(NODE *s){
if(s->next->data!=-1) A0 000 0O0O0O0OO*{
printint(s->next). /*00 O O O */ if(s->next->next->data==-1)
printf("%d",s->next->data). else{ int ,k=HUNTHOU. for(i=1.i
putchar(0 s->next->data%(k)/(k/10)). } }}*00 OO OO [0 100Test [I [
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